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�� ĂîčõćÙĀîċęÜëĎÖ÷ĉÜ×ċĚîĕðĔîĒîüéĉęÜéšü÷ÙüćöđøĘüêšî a ôčêêŠĂüĉîćìĊ ëšćÙüćöÿĎÜ×ĂÜĂîčõćÙ×èąđüúć t Ĕéė

ÖĈĀîéēé÷ÿöÖćø s = at− 16t2 ÝÜĀćÙüćöđøĘüêšî×ĂÜĂîčõćÙ ëšćÖĈĀîéĔĀšĂîčõćÙîĊĚ×ċĚîĕðĕéšÿĎÜÿčé �� ôčê

�� ÝÜóĉÝćøèćúĆÖþèąóøšĂöìĆĚÜđ×Ċ÷îÖøćô×ĂÜôŦÜÖŤßĆî f(x) = 2x3 + 3x2 − 1

�� ÝÜĀć×îćé×ĂÜøĎðÿĊęđĀúĊę÷öñČîñšćìĊęöĊóČĚîìĊęöćÖìĊęÿčé ëšćÖĈĀîéĔĀšđÿšîøĂïøĎð÷ćü �� ĀîŠü÷

�� ëĆÜîĚĈĔïĀîċęÜđðŨîøĎðìøÜÖøü÷ÖúöÙüęĈ ÿĎÜ �� ôčê øĆýöĊ×ĂÜåćî �� ôčê ëšćĔÿŠîĚĈĔîëĆÜĔïîĊĚéšü÷ĂĆêøć � úĎÖïćýÖŤ

ôčê�îćìĊ ÝÜĀćüŠćøąéĆïîĚĈĔîëĆÜÖĈúĆÜÿĎÜ×ċĚîéšü÷ĂĆêøćđøĘüđìŠćĔé×èąìĊęîĚĈĔîëĆÜúċÖ � ôčê

�� ÝÜĔßšñúêŠćÜĂîčóĆìíŤĀćÙŠćðøąöćè×ĂÜ 4
√
15.96 	ĔĀšêĂïĔîøĎðìýîĉ÷ö


�� ÝÜĀćÙŠć lim
x→0
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�� ÝÜĀćÙŠć lim
x→∞
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�� ÝÜĀćÙŠć lim
x→∞
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